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&S X 4 Bs | Finh oD EERE jjo)jt%f‘é X 4 TIHMLDKE [ FHE jijafé R 4 s | t@mEhLDtEE jijafé K 4 LighsnltsE | & jjo)qu:g
(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/m%E#8z% | 1.00 | 000 ~ 1.12| 116.89 |3mEiBz% -~ - -] 100kN/mZ#8z% | 1.00 | 11.29 ~ 1580| 116.89 |3mZ#Bz5 ~ -
s 100|112 ~ 891 100.00 | #nst | 0.00 ~ 891|219 11.07 st 1.00 | 6.00 ~ 1129 100.00 | =nst | 6.00 ~ 1580| 2.19 11.07
2 100kN/m%E#BZ25 | 1.00| 000 ~ 127 11923 |3mEHEZ5 -~ -] 100kN/ %8825 | 1.00 | 1069 ~ 1510 119.23 |3m%EiBZ% ~
s 1.00 | 1.27 ~ 9.06 100.00 | =nst | 0oo ~ 9.06| 2.28 11.56 st 1.00 | 6.00 ~ 10.69 100.00 | =nhst | 6.00 ~ 1510| 2.28 11.56
3 100kN/m%E#BZ5| 1.00| 000 ~ 188 125895 |3mEHEZD ~ -] 100kN/mZ#8z% | 1.00 | 10.79 ~ 1880 12895 |3mZE#Bz5 ~
s 1.00 | 1.88 ~ 9.66 100.00 | =nst | 0oo ~ 966 | 2.26 11.43 st 1.00 | 6.00 ~ 10.79 100.00 | =nLst | 6.00 ~ 1880 2.26 11.43
4 100kN/mM#E#BZ5 | 1.00 | 000 ~ 164 125.08 |3m%E#BZ 5 ~ -] 100kN/mZ#8z% | 1.00 | 1088 ~ 17.60| 125.08 |3mZ#Bz5 ~
s 1.00 | 1.64 ~ 942 100.00 | =nst | 0.00 ~ 9.42 | 2.24 11.35 st 1.00 | 6.00 ~ 1088 100.00 | =nhst | 6.00 ~ 1760\ 2.24 11.35
5 100kN/m%E#BZ25| 1.00| 000 ~ 087 11298 |3mE#EZ5 ~ -] 100kN/ %825 | 1.00 | 11.20 ~ 1440 11298 |3m%EiBZ% ~
s 1.00 | 0.87 ~ 865 100.00 | =nhst | ooo ~ 865|203 10.24 st 1.00 | 6.00 ~ 1120 100.00 | =hst | 6.00 ~ 1440 2.03 10.24
P 100kN/m%EBZ5| 1.00 000 ~ 023 10331 |3mEEZD ~ -] 100kN/ %825 | 1.00 | 11.563 ~ 1230 10381 |3m%EiBz% ~
s 1.00 | 0.23 ~ 801 100.00 | #nst | 0.00 ~ 801 | 2.00 10.09 st 1.00 | 6.00 ~ 1153 100.00 | =hst | 6.00 ~ 1230 2.00 10.09
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM#%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ FhLst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ st ~
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